
19-8003-323-02

RT5 SL IP-ON EXHAUST,  SS/CARBON

BMW S1000RR
2010-11

P E R F O R M A N C E  D E L I V E R E D !

0
8

-5
0

-4
7

2
4

1
R

E
V

. 
A

PARTS INCLUDED

Ref. Part Number Description Qty

1) 00-200-02392 Slip-on Midpipe Assembly 1
2) 00-200-02396 RT5 Muffler, Carbon Fiber 1
3) 00-200-02398 Midpipe Heat Shield 1
4) 03-46-47231 Muffler Adapter Bracket 1
5) 01-510812525-SS M8-1.25x25mm Socket Button Head Bolt 1
6) 01-7408125-27 M8-1.25 Hex Flange Nut 2
7) 07-38-42068-35 T-Bolt Clamp 1
8) 07-38-32HC #32 Hose Clamp 1

https://www.motorcycleid.com/jardine/


19-8003-323-02

RT5 SL IP-ON EXHAUST,  SS/CARBON

BMW S1000RR
2010-11

NOTE: Make sure the motorcycle is cool and
secure on a service lift or stand before
attempting any installation.

1) Loosen the stock muffler inlet clamp bolt.
(Fig. 1)

2) Remove the bolt that secures the stock
resonator to the right side rider footpeg.
(Fig. 1) Remove the stock resonator.

3) Remove the stock heat shield form the
under-body muffler outlet.

4) Loosely place the provided t-bolt clamp over
the notched inlet of the Jardine slip-on
midpipe. Slide the midpipe onto the
under-body muffler outlet tube. (Fig. 2) Do
not tighten clamp at this time.

5) Using the original resonator mounting bolt,
and one supplied M8-1.25 hex flange nut,
loosely secure the muffler adapter bracket to
the rider footpeg mount, as shown. (Fig. 3)

6) Slide the Jardine muffler onto the midpipe
outlet. Position the midpipe and muffler, and
secure to the muffler adapter bracket using
the supplied M8-1.25x25mm button head
bolt, and M8-1.25 hex flange nut. Do not fully
tighten at this time. (Fig. 3)

P E R F O R M A N C E  D E L I V E R E D !

TOOLS REQUIRED
Ref. Description

1) 3/8” Drive Ratchet
2) 3” Extension
3) 8mm Socket
4) 10mm Socket
5) 12mm Socket
6) Phillips Screwdriver

Ref. Description

7) 5mm Allen Socket
8) 8mm Allen Socket
9) 8mm Wrench

10) 11mm Wrench
11) Torque Wrench
12) Spring Tool or Needlenose Pliers

INSTALLATION INSTRUCTIONS

Fig. 1

Fig. 2



19-8003-323-02

RT5 SL IP-ON EXHAUST,  SS/CARBON

BMW S1000RR
2010-11

P E R F O R M A N C E  D E L I V E R E D !

7) Thread the supplied hose clamp into the
bracket provided on the back of the new
midpipe heat shield. Slide the tab on the new
heat shield into the mount on the under-body
muffler outlet.

8) Position the complete slip-on exhaust in the
best possible orientation. Fully tighten the
midpipe t-bolt clamp, then the muffler adapter
bracket and muffler mounting bolts. Lastly,
fully tighten the hose clamp securing the
midpipe heat shield. (Fig. 4)
NOTE: Make sure that the t-bolt clamp is
covering the notches on the midpipe inlet.

9) Clean any fingerprints and grease from the
muffler and heat shield.

10)Start the motorcycle, look and sound better
than you did before you started Step 1.

INSTALLATION INSTRUCTIONS

Fig. 3

Fig. 4

Learn more about motorcycle parts on our website.

https://www.motorcycleid.com/parts.html



